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SOUND

1. Find the time period of the wave whose

frequency is 500Hz?

[ o View Text Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1ZDdT7BDF43s

2. In a certain gas, a source produces 40,000
compression and 40,000 rarefaction pulses in
1 sec. When the second compression pulse is
produced, the first is Tcm away from the

source. Calculate the wave speed.

o View Text Solution

3. An echo is heard after 0.8s, when a boy fires

a cracker, 132m away from a tall building.


https://dl.doubtnut.com/l/_1ZDdT7BDF43s
https://dl.doubtnut.com/l/_LJnQyXYyuFpM
https://dl.doubtnut.com/l/_GRZC4c5WD9qn

Calculate the speed of sound?

o View Text Solution

4. A research team sends a sonar signal to
confirm the depth of a sea. They heard an echo
after 6s.Find the depth of the sea. an echo

after 6s.Find the depth of the sea m/s?

° View Text Solution



https://dl.doubtnut.com/l/_GRZC4c5WD9qn
https://dl.doubtnut.com/l/_gz90wqfvC443

5. Find the time period of the wave whose

frequency is 500Hz?

o View Text Solution

6. In a certain gas, a source produces 40,000
compression and 40,000 rarefaction pulses in
1 sec. When the second compression pulse is
produced, the first is 1cm away from the

source. Calculate the wave speed

o View Text Solution



https://dl.doubtnut.com/l/_OXmQiZ9Y31lj
https://dl.doubtnut.com/l/_UrsU25n0Wf5p

7.An echo is heard after 0.8s, when a boy fires
a cracker, 132m away from a tall building.

Calculate the speed of sound?

o View Text Solution

8. A research team sends a sonar signal to
confirm the depth of a sea. They heard an echo
after 6s.Find the depth of the sea. If the speed

of sound in sea water is 1500 m/s?

o View Text Solution



https://dl.doubtnut.com/l/_UrsU25n0Wf5p
https://dl.doubtnut.com/l/_XjPKTiE4q6fK
https://dl.doubtnut.com/l/_aUsAVOmpQkiT

9. Find the time period of the wave whose

frequency is 500Hz?

o View Text Solution

10. In a certain gas, a source produces 40.000
compression and 40.000 rarefaction pulses in
1 sec. When the second compression pulse is
produced, the first is 1cm away from the

source.Calculate the wave speed.

| = 1


https://dl.doubtnut.com/l/_aUsAVOmpQkiT
https://dl.doubtnut.com/l/_WejcBmYSw5W0
https://dl.doubtnut.com/l/_TgTYQKDLHC6M

l &J View Text Solution I

11. An echo is heard after 0.8s, when a boy fires
a cracker, 132m away from a tall building.

Calculate the speed of sound?

o View Text Solution

12. A research team sends a sonar signal to
confirm the depth of a sea. They heard an echo
after 6s.Find the depth of the sea. If the speed

of sound in sea water is 1500 m/s?


https://dl.doubtnut.com/l/_TgTYQKDLHC6M
https://dl.doubtnut.com/l/_DuYBcM7wGIYl
https://dl.doubtnut.com/l/_ahHb1vgGSfyp

° View Text Solution



https://dl.doubtnut.com/l/_ahHb1vgGSfyp

